10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Determinare il campo di esistenza delle seguenti funzioni

fl@) = V-2 + 72 —12
flay = 22

fla) = [
flz)= e —4

f(@) = 6;:_13

F(z) =322 — 9+ $21_ :

22+ 3z —4
fle) = 22 —6z+9

223 + 4z
fle) = er 4+ 4

372 + bx
floy= 2252

ex—‘rl 4
f) =

eVetl _ 5
==
fx)=+/|r—3]+4
f(z) = log(32® + 5z)
f(z) = log(z® + 42 + 4x)
Fa) = log 22022

rz+1
f(x) =log(Tx + 3)

f(x)=+/3—logz

4r — 3
J) = 2 — log(4x)



20.

21.
22.

23.

24.

25.

26.

27.
28.

29.

30.
31.
32.

33.

34.

35. f

36.

37.

38.
39.

40.

41.

42.

_ T+ 5log(3r)

3z —2

f(x) = /4 —log(x + 1)
f(z) =log(3z + 1)

_ log(2z — 3)
M@ ==

-3 1 7
flz)=3z+1- e
f(z) =" —loga®

523 + 2

fla) = ——F+ V3 +5
fla) = Vertt 4 322

f(x) = log(z? + 2)
f(z) =log(2* + 4z + 4)

f@) = /T2% + 3z

f(z) =log(|3z + 1| + 3)
f(x) = e L log
5z + log(3x)
fa) =]z +3] -5
f(z) =log(|1 — |+ 3)
log(3z +2)
o) =
f(z) = log(5z + 3) 4+ Vedr—4

f(x):5;p2_|_4x+\/3x3+4x2_6x_8

f(z) =log(4a® + 8z + 2x)
3r+4
f(z) =log S
f(z) = log(3z + 4) — log(—5z + 2)

fz) = Verrtl =3



43.

44.

45.

46.

47.

48.

49.

50.

51.

52.
53.
54.

55.

56.
57.

58.

59.
60.

61.

62.

63.

64.

fz) = 3T+ Viz —3

5x3 — 4z
f(z) = log(4z® + 2) + \/W
f(@) =log(52” — 6z +1) + \/22:7
fla) = B =)
f(a) =log(32” + 6z) + v5z + 1

f(z) =log(Bz+5) + Ve¥r=4 -1
f(z) =log(—2x +4) + Ves*=1 42
f(x) =log(—3z +6) + Ve3*+5 — 6
f(z) = log(3z? + 4x) + \/e32°+2¢ _ 3

f(x) =log(6x +5) + Ve3*=4+6

f(z) =log(v/3x + 1) + log(e** ¢ — 8)
f(x) = log(3z” + 4z) + log(e™ 5 — 3)

log(322 + 5+ 6x + 3
f(z) = og(32” + 5+ bx + )+\/5x2+6x+1

€5x+1 -3

f(x) = /3 + log(2z + 1)
f(x) =log(3x — log(7x + 1))

1
@) = g —em

@) = VEz ¥ T

f(z) = log(sz — e~32+1)
1

f(@) = log(3z — 1) — bz

f(x) = /T2 —log(4 — x)

f(x) =log(3z + 659”*7)

F@) =

Jedetl 4 71



65.

66.

67.

68.
69.

70.

f(z)

fz) =

f(x)
f(x)
f(z)

f(z)

= /5e3rtd | 6

1
2e4r+3 1 5y

= log(3x + 7e** 1)

= /3etrtl 4 5z

= log(2x + 6595_1)
1

" bz — log(7z — 1)



